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The State Finger Print Bureau was founded in
Haryana in

(A} 1975 (B) 1972
(C) 1997 (D) 1991

What is the other name for bread mould ‘?m% &
(A) Rhizopus {(B) Penicillium
(C) Yeast (D) Peziza

Which of the following statements hold true
for the Magistrate’s power to send an accused
to remand under Section 167 of the Code of
Criminal Procedure, 1973 7
(A) The maximum period of remand in police
custody cannot exceed 15 days, after that
only sending to judicial custody is possible
{B) If the investigation is not completed within
60 days he has to be released on bail
(C) If the investigation is not completed
within maximum period of 90 days the
accused have to be released
(D) The maximum period of remand
in sjudic'ial custody cannot exceed
15 days, after that only sending
to police custody is possible

Pointing to the weman in the picture Rajiv
said, “Her mother has only one grandchild
whose mother is my wife”, How is the woman
in the picture related to Rajiv ?

(A) Wife (B) Sister

(C) Data inadequate (D) Cousin

A 15 an entire database list of
information.

{A) Records (B) Form

() Fields (D)) Table

Which type of reproduction seen in Hydra ?
{A) Fragmentation (B) Fission
(C) Budding (D) Regeneration

The difference between a two digit number
and the number obtained by interchanging the
positions of its digits is 36. What is the difference
between the two digits of that number ?

{Aﬁ‘l 4 (B) cannot be determined
(C) 3 (D) 9

Choose the correc lonf i 3 e
Senuence, ecLoption for x in the following
1,4,9, 16, x

(A) 22 (B) 20

(C) 25 (D) 18

4I
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it # w2 fim fi w5 6 o wa 9,
g o 7
(A) 1975 (B) 1972
(C) 1997 (D) 1991
T TP T 1 o A A 2 T 10.
(A) Trg=E (B) Hieferm
(C) 4 (D) Ut
: dfear, 1973 1 9ET 167 % @ea R
mmmﬁaﬂaﬁm&mﬁﬁm
for Freferfiag # & s -3 o &el 2 7
(A) dfera ferrem ¥ fors Afersran Y
5 et & sxferss 941 21 werel ®, 30 919
) =i fevea § Yo A EE
(B) T 60 fei % sft st g0 7 &H W34 11.
ST 9 TRl T e
(C) afz 90 firit i rfereram 7=l = vt Sit=
it 78 €1eft &, o A a1 e s wm
(D) e T A foaie o sAfueran srafy
15 fat & e 1 €1 Gl B, 36 911
o1 gierer e 3 WS ST E9E R

@i{ﬁ&?ﬂﬁgﬁl}naﬂtmmﬁmﬂﬂﬁﬁ

v ey mit = weFT e & Foreeh wf w wel

8 P R = O 3w E 7

(A) Tl (B) =84 =
(C) BRI UATE 98 (D) ==l g al

{1 O E S g |
(A) T (B) i

(C) hies (D) 254
B1EE! -8 TR Yo femar R ¢
(A) E=A (B) feg=a
(C) HFH (D) ST
31 37 ATefl U W il 36 S & e T
mﬂwmmm%ﬁ.mﬁqm'i 14,
B et o aft o ot Frae 2 7

(A) 4 (B) Terifta =& e = g

()2 (D) 9

ﬁ”{fﬁﬁaﬂ i_-! =Ll T—l X ':E 1’("_?'({ H’g‘l faﬂ?m 'q*,??.r; '
1,4,9, 16, x *
{A) 22 (B) 20 L'\_
()25 (D) 18
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70, |

9,

10.

1L

12,

14.

An electric iron of resistance 20 Q takes a
current of 5 A, The heat developed in 30 s is
(A) 24 x 10*] (B) 35x% 10'J

(C) D410 (D) 1.5%10J
Sections 39 and 40 of Code of Criminal
Procedure, 1973 (Cr PC) make it mandatory
to give information regarding commission
u?‘certain offences. Such information can be
given tor

(A) a police officer only

(B) alawyer

(C) local TV channel

(D) either to a Magistrate or to a police officer

Four ladies A, B, C and D and Four gentlemen
E, F, G and H are sitting in a ¢ircle around
4 table facing each other. No two ladies or
gentlemen are sitting side by side. C who
is sitting between G and E is facing D, F is
between D and A and facing G. H is to the
right of B. Who is sitting leftof A ?

(A} F (B) H
(C) E (DY G
M is equal to
log®
1 l
A) — (B) —=
(A) 3 75
1 1
(€} 3 (D) 3

The members of USMCA (which replaced
NAFTA) are

{A) United States-Mongolia-Canada
(B) United States-Mexico-Canada
{C) United Kingdom-Mexico-Canada
{13} None of the above

In a group, 50 people speak Hindi, 20 speak
Tamil ang 10 speak both Hindi and Tamil,
then number of people who speak Hindi or
Tamil i3

(A) 60 (B) 80

(Cy 70 (D) None of these

Which among the following has a larger
refractive index 7

(A) Carbon (B) Ice

(C) Diamond (D) Ruby

10.

1L

12.

13.

15.
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20 Q wfiYa i o fga yoft 1 5 A f faga B
3nﬁi3ﬁﬁmf§ﬁﬁmgt e
(A) 2.4 x 10°] (B) 3.5x 10']

(C) 0.4 % 10" (D) 15%10°)

#g wiwa wfear, 1973 Ehamedeh) 6 am 39
#R 40 F TET FH JATOH F FHOH F LA
AT & Sl R | T e

&1 &) o1 T B |

(A) Fae giera st

(B) =il

(C) T Erdl A

(D) wferez a1 giem sifimr

4 wfgend A, B, C 37 D 791 4 989 E.
F, G 31 H 0% S ¢ o =T 310
T L T A A3 § | S & HiEe
1 g5 T -w A3 R | ¢, 6 S E
¥ o &1 & o sw g DR s |
F, G %! 3 §@ %% D 3 A & 39
d=id | H, BT AR R | A% and o7
FREE 7
(A) F

(C)E

IngJE_; e ST e ¢
log®

(A) L— (B) —=

4 J8

(B) H
(D) G

1
{C) § (D)

TuEi % we (o e 6 el R) #

(A) B T SRR - A e —FTe

(B) HF T mﬁ‘-ﬁ:ﬂﬁaﬁﬂ ~FTE] Bt

(C) gAEde T -afFas-wael a
A bt : @45

(D) 39=a 3 9= T8

U TR A 50 S et s €, 20 afie S

£ 3 10 fEd i afm e a8, ey sa

Y grem = fEd o afe wed 2

o] et

(A) 60 (B) 80
() 70 (D) 5H 7
fferfian o @ f are

(A) TIEH B

(C) #i
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16.
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18.

X14

The ratio between the length and the breadth of
rectangular park is 3 : 2. If a man cycling along
the boundary of the park at the speed of 12 km/hr
completes one round in 8 minutes, then the area

of the park (in sq. meters) is ] ég
(A} 153600 (B) 307200 HNSGE
(C) 15360 (D) 30720

Haryana had only _____ police range/s
when it separated from Punjab.

(A) One (B) Zero

(€) Six (D) Two

Select the related word from the given
alternatives,

West : North-East - t South : 7

(A) South-East  (B) North

(C) East (D) North-West

The decomposition of vegetable
matter into compost is an example for

(A) Exothermic reaction

(B) Redox reaction

(C) Replacement reaction

(D) Endothermic reaction

There are six persons A, B, C, D, Eand F. C is
the sister of F. B is the brother of E's husband.
Dis the father of A and grandfather of F. There
are two fathers, thrée brothers and a mother in
the g;rmlp Who is the mother ?

(A) D (B) A

(C)E (D) B

Proteins with catalytic power are named as

(A) Hormenes (B) Enzymes

(C) Acids (D) Bases

When bits are grouped together as a
\anit, they form a byte.

(A) 4 (B) 5

(C) 8 (D) 6

Choose the missing term,

BA,DCFE,

(A) IH (B) GH

(C) HG (D) None of these

16.

17.

18,

19,

20,

21.

22.

23,
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SRR e o s S Sherd @ gy,
;ﬁfg% |qﬁ@3ﬂfﬁlqﬂ3ﬁﬁm?ﬁhﬁﬂﬁ'ﬁ:
12 ot /efer ot I & wrR{en S R, )
U weEE G A 4 8 e am E @
St (= wfter ) Pea B 7

(B) 307200
g
UHE § e B W R Ao

EE Rl
EEHW (B) A
(C) TE (D) =l

o o feepedt & wiifire wree 1 g |
qfzEw : Iw-gd ;g 7

(A) afeor-gd (B) I
(C) gd
aeafa ward =1 were § e T
Teh FETEL B |

(A) Fereasfi arfirfra

fﬂ}mm

(C) Sferem syfifsran

(D) =t Stfirfen

A.B,C,D,EsFoe=afFid | C, P amad |
BEFUM a1 9E R | D, A &1 fiey ot F oy
rer & | 998 9 1 fora, o7 o afue ot |
HEE R 7

(A) D (B) A
(C) E (D) B
mmﬁaﬁﬁﬁﬁ?ﬁrwmﬁmw%?
(A) TH (B) Usrzy
(C) &7 (D) &

il Torza 1 v wré 3wy
U T i e o 2, 13
TF HFE 5 |

(AJ 4 [B*] 5

(© 8 (D) 6

T 9 gt |

BA, DC, FE

(D) Fw-gfem

e

24.

25.

26.

27.

28,

29,

30.

Each Ll
called

(A) Talk
(C) Dag
19 is red;
related

(A) 44]
(C) 324

Section
1973 (Cy
(A) both
(B) toor
(C) to re:
(D) none

Due 10 w
the first St
injectable
measure 7
(A) Opera
(B) Salam
(C) Gramc
(D) Antyo

If the cost ¢
what is the
rate ?

(A) T xd

vd
=

X
Haryana cab

of “Regional
Corridor ben

S (AY) Amritsar

(B) Rajastha
(C) Delhi-F
(B) Noneof1
In how many
the word ‘LE

way that the »

(A) 480
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3
Cl

4

Ffiag
A1 30 F #
GHAE |

g

27,

(A) Tables

Each table appears as a spreadshost oo
iy jil shget grid
(B) Queries

(I3} Record

19 is related o 361 inth '
it mthe same way 21 is
(A) 441
(C) 324

(C) Datasheet

(B) 400
(D) None of these

Section 159 of Code of Criminal Procedure,
1973 (Cr PC) empowers the Magistrate

(A) both (B) and (C)

(B) to order magisterial inquiry

(C) to restrain police investigation

(D} none of the above

Due to which scheme, Haryana has become
the first State in India to implement the use of
injectable contraceptives as a family planning
measure 7

{A) Operation Muskan

(B) Salamati Scheme

(C) Gramodaya

(D) Antyodaya Aahar Yojna

If the cost of  meters of wire is d rupees, then
what is the cost of y meters of wire at the same
rate 7

(A) T ad (B) T yd
yd Xy
i3 16 s (D) T

Haryana cabinet has approved implementation
of *“Regional Rapid Transport System(RRTS)"

» Corridor between
24 (A) Amritsar — Gurugram

(B) Rajasthan — Gurugram

(C) Delhi — Panipat

(D) None of the above

In how many different ways can the letters of
the word 'LEADING' be arranged in such a
way that the vowels always come together 7
(A} 480 (B) 3040

(Cy 360 (D) 720

4.

26.

27,

28,

29,

30,

HE

1R
it

7 (C) 360
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W 29 v Wiz firg % v i wga A
g wEa®l

(A) 2&cH (B) ===

(C) e (D) T

361 & 19 Fe TR Hale B, o #2121
e |
(A) 441
(C) 324
e gfEa wfEr, 1973 (e £ gm 159
ufercte #t aafirm 2 2

(A) (B) 3 (C) &

(B) wisieae v & 7Ry

(C) gfer® W= o T T o e
(D) Fira 08 = T8

o s 3w, B o giEn e
9T g 1 s g R F v
Tranf=n # aren wis =1 vew T o1 |
(A) FTER

(B) GeAHal O

(C) THEa

(D) FeArET SR A

M x Hiet AW 1 Hed d R, @ I w

(B) 400
(D) 798 = 7

y Htet A =1 e R g ?

(A) T xd (B) T yd

© % Ef D) 2 %

e g fen (amarrdivr )" wiEn &
FATae i e A |

(A) STAER - TEIH

(B) TSI — T&aTH

(C) feett — arftug

(D) Iutie # @ wré Tl

82 ‘LEADING' & we70l w1 avert-37er e
nlis & T8y wEtem B W e R,
forert = wite o A @ 7

(A) 480 (B) 5040

() 720
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Haryans has district jails, 31

(A 14 (B) 13
(€) 16 (D) 15
Six friends P, Q, R, §, T and U are members of a | 33,
club and play a different game of Football, Cricket,
Tennis, Basketball, Badminion and Volleyball,

T whois taller than P and § plays

Tennis, The tallest among them plays
Baskethall. The shonest among them

plays Volleyball, Q and § neither play
Volleyball nor Basketball, R plays
Volleyball, T is between Q who plays

Football and P in order of height. Who

among them plays Baskethal] 7
(A) R (B) §
©u (D) Q

A can do a work in 15 days and B in 20 days. 33.

If they work on it together for 4 days, then the
Traction of the wark that is Jeft is

7 :
A) L B) !
(A) T (B) i
8 1
(€C) — (D)L

15 ) 10

gotthe title of Shamsul Ulama 3.

in 1904 by the then British Govt,
{A) Surdas (B) Balamukund Gupta

{C) Banabhatta (D) Altaf Husain Hali

Glycosidic bond is formed by the process of 35.

{A) Rehydration
(C) Annotation

(B) Dehydration
{D) Hydration

The positions of the first and second digils in 36,

the number 94316875 are interchanged,
Similarly, the positions of the third and lourth
digits are interchanged and so on, Which of
the following will be the third 1o the left of
the seventh digit from the left end after the
rearrangement 7

(A) 6 (B} 4

()1 (D) None of these

Which of the following cities in the Haryana will 37,

be developed as 2 Smartes; city ?
(A) Sonipat (B) Gurugram
{C) Sirsa (D) None of the ahove

S2CFES - g,

feamon 3 Fare forem et & 7
(A) 14 (B) 13
© 16 (D) 15

P,Q,R, S,Taﬂ'{Llﬂﬁﬁﬁ@?ﬁHﬁ:}ﬁq
? 2 smr-awm @FTW, ﬁﬁ“—{ E‘r:_:;l
arEare, aefifer st arcftale geg ¢
T, st 6 p aft s & o1 2, 2R dom ) =
¥ 1 St #ed o9 8, 98 Shdaid Ten
ot e sier 8, 98 arefsie @ | Q o
S 7 et @erd € 9 anEned | R aelaty

st T e R T e 7
(A) R (B) §
(C) U (D) Q

A%Wﬁ!ﬁﬁﬁﬁ@?Bﬁiuﬁﬂﬁiﬁi
Theh1 @ | AR 3 4 A o9 v @y 38 w5 ot
F4d &, 1 B e w9 e s 2

7

A By 1
(A) 15 Vi P
ey 2. ) L

L5 10
— Ay 1904 # farfew wvem 2
I -3T - 3491 i 3y A o7 | .
(A) qEmE (B) T
(C) =gz (D) 37EATs g wrEh

(A) Tstefterror (B) Frefefimmo
(€) T (D) Wt

. 50 = e, = ;
TM94316875% yew aih exy Hh
T 3798 A et faryr sy 3 | 3 T,

(A) g (B) ‘T*.m

38.

i
| 39

40.

41.

L =
iy

Haryana Rogg
{HREC) is sity
(A) Faridabad

{C) Sitsa

Select the corpe

given helow 1o

DILOTY®R

(A) 1
(C) 1

Cardiac muse)e
present only i
(A) Kidney

(C) Liver

Hundred Years W

between

(A) England-Am
(B) Russia-Fran:
(C) Russia-Enel

(D} England-Frar

In a first, India 5

Asafoetida

[3

(A) Cold Deseny

(B} Cold Deserts

[

({_"' r:I"_Il: ]l‘-'\'_-i;_‘: 18 |
(I None

l]”hfl_"(.' unbinsed Gl

What is 1)

of the a

almost two heads

2
Ay 2
4

()

i

What iz the maximum

vl

envisaged by the

(A) 552

(C) 545

In visual repres
Wears a cr

Quk stand

5400

I
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o

. Haryana Roadways Engineering Corporation

{HR.EC] 15 situated at
AA) Fl_lnﬁﬂbati (B) Gurugram
() Sirsa (D) Panchiula

39, Sclect the correct answer from the choices
given below tocontinue the serias,
PILQTYBG?

(Ay 1 (B) O
[Teil (D) H

40. Cardiac muscle tissue is a contractile tissue

presentonly in
(A) Kidney
{C)/ Liver

(B) Heart
(D) Pancreas

41. Hundred Years War was fought during 1337-1453

betwesn

(A) England-America
(B) Russia-Frante
(C) Russia-England
(13) ‘England-France

42. [Ina first, India started the cultivation of
Asafoetida

{A) Cold Desertsiof Ladakh

(B} Cold Deserts of Himachal Pradesh
() Cold Deserts of Tnarakhand

(D) None of the above

43, Three unbiased coins are tossed.
What is the probability of getting
atmost two heads ?

(Ay 2 @) L

it 4

bl

oy 7 (o =

(C) 2
(h of the Lok Sabha

What is the maxjmum streag Lo}
envisaged by the Constitution of India

(A) 552 (B) 544
(C) 545
In visual representall

wears a crown of O
(Oak stands for

(A} Patriotism
(€} Rich heritage

{B) Diversity
(D) Heroism

(D) Naone of the above

{on of a painting Germania
ak leaves, as the Germar

38.

39,

40,

41.

42,

43.

44,
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DILOTYBG?
(A) 1 (B) O
(€ (D) H
s nHe FEE TH o FaH 8, A
Hae ﬂﬂ‘ﬁﬁ:ﬁwg
(A) (B) 4
(C) T (D) AT
1337-1453 & da 100 =19 48 *
== g |
(A) TE - SHIER
(B} ®=5-%
(C) TH-FEE
(D) T~

A 3 el TEe 1 ] G w0 o ¢
(A) TEIE % 38 e

(B) Tenraer w29 & 22 s

(C) ITEE F 32 ar

(D) i A w6 e

A1 aaiEm far = S8 = e, s
arfir 2t i et & ) e =0 Erf 7
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4

el 3
- ' E ~

e * ﬂﬁmfr g gl fous S o wee

=1 aferEman A R 7

(A) 552 (B} 544

(C) 545 (D) STEH | 1 T
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% WSl A T HpE TEN 757 2,
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i(A) Estate General

o the following arrangement of digits,
m Hnd-:#}'mhnlsgan_d ;rnkwer the question
iven belov,
FIGKBSY#DR2#TMGHHVTIR"
LA

IF all the symbals are dropped from the above
arrangement, which of the following will be
the third to the Iett ol the seventh letter/number
from the right 7

(A) R (B} G
€y M (DY D
Tolocate o wh page wsing i browser,
‘you need ta typa ity in the

browser's address or location har,

{A) Uniform Resource Locator (URL)
(B) Hyperlink

ACY External link

() Internal link

_I_:’.-Shriim portal isa National database of

{A) Unorganised workers

(B) Women workers

{C) Divyang workers

(1)) None of the above

The name of the customs union formed in | 834
at the initiative of Prussia and Jeined by most
of the German States is

(B) National Assembly

(@) Zollverein (D) National Guards

Whichof the following Agricultural Universities

of Haryana has develaped the disease resistant

Pea variety HFP-1428 7

(A) Maharana Pratap Horticultural
University, Karnal

{B) ICAR-National Dairy Research Institute,
Kamal

(€) Chaudhary Charan Singh Haryana
Agricultural University, Hisar

(D) None of the above

Which of the following Amendment Acts

inseited the “Fundamental Duties of the

Citizens" in the Indian Constitution

{A) 62 Amendment Act

(B) 42 Amendment Act

(C) 32" Amendment Act

(1) None of the above

46,

47,

48,

49,
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st s ol fodl & Fefilan sy
s shifen s e R e s o E i |
FI4KBS9#DR2#HTMGHHY T8+
LIA i 4

afe 3yt e @ i Rl # o Ry
e, Al 7 A e v/ % A @ e
Frestferfeas & =7 2 7
(A) R

() M

foRell T s @1 3ualT FEE A 4 H Ua e
% forg s} wrew & Uy A1 SidvA Al
FEH 289 AT I |

(A) g fard @iidet (URL)

(B) Emfém

() et fom

(D) srrefean e
f-ymade
() armise sfiet
(B) mfgen swwatar
(C) fa=m shrdwafad
(D) 39T o @ s 2

T o6 YA 1834 # w5 en g
ATe fSrd) srfermn s o 2

(A) UEEE e (B) e s
(C) HreEfm (D) HvHe s
st & Frefefian 4§ & g 5 Rl
3 I afat wer o vanwf. 1408 5
frsrfim e & 7

(A) HERTU ¥aTq &rrarh ey, som
(B) smidinam-ety a0 HTEIT Ty,

FHAH
(C) gﬂw%mﬂ?ﬁﬁ&ﬁamm

(D) 90§ & #rd e

Frerfefias & & fr sy arfrfim I
B W ER i Gl
W Sl o amfirer vy man f

(A) 6281 g arfirfm

(B) 429t vy svfisfinm

(C) 323t wyivg srfirfy

(D) 9w A | i

(B G
(D

[ U A Z2E |

I
i

.,I
oo

i)
=

6l

Whichof the follgyw
flower 7

(A) Hibiscug

{C) Sunflower

Thg - — 153 sp
of all the fields i L
(A) Tables

{C) Records
Howmany9's are (e
series, which are §
i

SJoand followed by 6
396939303067
(A) 4

(C) 3

The device that can ¢
current in & circuit is
(A) Galvanometer
(C) Diade

The First Computer ¢
came mto existence i
(A) Karnal

(C) Chandiearh

Rama ranks 16" from

QOTIOMm In a certain e
students are there in th
(A) 3l

(Y 13

In a right angled mang
is' R o 1 height is &
hypotenuse is

(A) 48 cm

(C) 10 em

Who is the ex-officio C
Sabha 7
(A) The Prime Minister

The Vice President

(B}

|_|;_.'| .rfl:




61. Two ships are sailing in the sea on the two
" sides gfu?lighumse. The angle of elevation
! af the top of the lighthouse is ahsewed from
the ships are 30° and 45° respectively. If the
f : is 100 m high, the distance between
i the two ships is
' (A) 300 m (B) 173 m
{C) 200 m () 273 m
62.  The power of accommaodation of the eye usually
decreases with apeing. This condition is called as
' (A) Presbyopia (B) Myopia
(C) Astigmatism (D) Hypermetropia
63. In which among the cases police can arrest a
person without a warrant 7
(A) Has committed an offense punishable with
imprisonment for a term more than 7 years

(B) Any person commits a non-cognizable
offense

(C) When his presence in the court is assured
(D) Has committed an offense
punishable with imprisonment
for a term lesser than 7 years
4. A 20200 isthesmallest
unit of data, the computer can
(A) Tables (B) Bit
(C) Word (D) Nibble

Choose se the one pair which does not belong to
- the group.
(A) 8:18 (B) 1:4
C) 22:46 (D) 10:24
At 3:30 p.m., the minute hand of a clock
towards East. Towards which direction
hour hand will point at 9:00 p.m. ?

w (B) South-West

i
{

(D) None of these
most sbundant of all the cells in blood are

(B) Erythrocytes
(D} Thrombocytes

at gold is alloyed with either ;
iper o make it hard which can be used ta

I|.||

(B) Silver
(D) Zing

6l.
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(A) A" () fare a
(C) 755 (D) Fa=
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FEAumaiEme &
(A) 8:18 (B) 1:4 74
(C) 22:46 (D) 10: 24 i
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Malfunctionirip ny i,
accumilation of iy
{A) Uricomia

(C) Lardosis

An: accurate ck «
morning. Thro

the hour hand
2 Q'clock in the
(A) 150

(C) 180

Three positions of 5

Which number is opp
(A) 1

(€ 4

Dratabase entrics are calls
{A) Tables

(€} Form

Haryanahas

funded by the

¥ bou

total score did b

wickets ?
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5 Whichof the fﬁuﬂ{’i_'iﬂgiﬁ exampleforunisexual
flower 7
{A) Hibisens
(C) Sunflower (D) Mustard

The: is a special dialog bo st
oE T BER I table.

(A) Tables
(C) Records

(B) Papaya

{B) Data form
(T Fields:
Haowmany 9"s are thergin the following number

ceries, which are immediately preced |
3 and followed by 67 i pritted by

39A03930396363956956939639

(AL 4 (B} 2
{€) 3 (D) None of these
§5. The device that can detect the presence ofa
current in & girenit is
(A} Galvanometer (B} Noltmeter
(C) Dionde (D) Resistor
86, The First Computer Center of Haryana Police
Game into cxistence in the year 1978t mie
(&) Karnal (B) Gurugram s
(C) Chandigarh (D) Faridabad
§7. Rama ranks 16% from the top and 157 from the
hottom in 4 certain examination. How many
‘students are there in the class ?
{A) 31 (B} 30
(C) 33 (D 32
58, Inaright angled triangle, if the length of base
s 8 cm and height is 6 cm, then thie length.of
hypotenuse 1§
(&) 48 cm (B) l4cm
(C) 10%cm (D) Z2cm
50, Who is the ex-officio Chairman of the Rajya
Sabha ?
(A} The Prime Minister
(B) The Vice President
(C) The President
(D) None of the above
60. 1f P is taller than Q but shorter than R, 5 is

shorter than R but taller than P and T is shorter
than R, then the tallest m{BI

(A) P )
() T D) Q

52
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54.

56.
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59.

60.
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(C) 33 (D) 32
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Malfunctioning of Kidney
aceumulation of weq in b
(A) Urieomia
{C) Lardosis

scan lend 1o

0ad, which ig called as
By Uremia
(I Dialysis

An accurate clock shows 8 Gl i
moming. Through how miiny E]:gLrEeE, 11‘11:‘;
the hour hand rotate wha e

2 0'clock in the afternoon 2 the ‘clock shows

(A) 130° (BY 144¢
(€180 (D) 168°
Three positions of a die are given below,
5 3 s
3 5 4

6 <4 2
Which number'is opposite to 5 7
A} ] (B) 2
(Cy 4 (D) 3
Database entries are called
(A) Tables (B) Fields
(C) Form (I3) Records
Harvanabas _purulni!ila.l‘}fhauﬂiinns

funded by the Central Government that arc
called ihe India Reserve Battahions.
(A) 2 (B 1

(Cy 3 () 4

. 110 runs which included
e es, What percent of his
ning between the

A batsman s 1L
3 boundaries and 8 51X
wotal score did he make by run
wickets ™

LT
(A '45-]-5| O (B) 347%
(C) 55% (D) 45%
ativls ban has
' i cadcm}'(l{l"mat}«‘[adhu ; .
Eclnn r}ﬁ;ﬂ’ﬁ?ﬁmtmng to the IP5 Probatoners
of Haryana since 1058
tA) 1977 (B}
(C) 1999 (D) 1988
Complete the following ana]l?gy.
Shoes ; Leather : ¢ Rubber: i ;
A) Polythene {B). Plastic
(1) Latex

(€] Chappal

70.
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T fomr & For o o gt et it 7 o
feammtt ?
(A) 150° (B) 144°
() 1807 (D) 168°
A v ote o Rl E

5 3 5

3 5 4

6 4 &
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(A) 1 (By 2
(Ch 4 () 3
amufafEaiEt 0 wErEm R
(A) ZaTH (B) Frez
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i e
(A)2 (B) 1
(cy 3 (D) 4
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Ay 45229 54—Y%

(A iﬁH ( (B) S

(C) 55% (D) 45%
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(A} 1977 (B) 1966

(C) 1999 (D) 1988
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h 77, The Council of Ministers is
‘epllectivaly respansible to the

{(A) Prime Minister

(B) Lok Sabha

(@; Rajya Sabl

(D) Nome of the ahove

8. W Pis a brother of Q, M is a sister of Qand T
52 brother of P, then how Qistelated 0 T-7
{A:' Brother orsister () Brothet

(€ Data insufficient (D) Sigier

| IP 79 reacts violently with cold water,
k| i [A) Potagsium (B) Mercury
| E (0 Magnesium (D) Caleium
i 80.  Sur Ssmman Award of Haryana is given in
I which field?

{A) Agriculture - (B) Sports

(C) Cinema {13 Liternture.

What is the population density of Haryang as
per census; 20171 1 '

(A) 733 persons per sq. km

(B) 666 persons per sq. km

(C) BSS persons per sq. km

(D) 573 persons per sq. km

8. %L;h?wua replaces 7" in the following

42 36 ; ' 38
s@is 3(1)s 100w
6 9 19
(A 2 (B} 4
b (D) 3
: range of Haryana Police do not
e which among the following districts 7
Mahendragarh (B} Rewari
(1) Thajjar
tree of Haryani is
Racemosa (B) Ficus Benghalensis
‘Religiosa (D) None of the above

tural Minisiry of Tndia recently
Memorandum of Undetstanding
vith which of the following tech. giants
at project in 100 villages of six staes
ote digital agriculuure 7
ook (B} Google

o (B None of the ahive

78.
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B Faerd # 7 A complete opery
rfamfyg W{RE &9 4 ikasakl 86 & deskiop compuyer |
(A) ST mobile computin
: Eﬂﬁﬁﬂ OpCratng system
[?i Tl_v-!!”{-':ﬂr (A) Mobile
t{f'.;‘l W}ﬂﬂﬁﬂﬂ'ﬁf:‘ﬂ (€} Real time
T, How many women 14
P, q:ni?f% M-Qﬁmt.. Fage §7. 0 any e Hicl
:Eﬁrpa%t, At , T B e T EA 27 i L.
(A) W{ a1 qE (B) s Hockey tourmamg:
(C) arfse gy d (D) §5 Bk 6
sk & T el 8 SR S A o
G i i) qﬂ:. $8. Punjab Police Rules yere 1,
(C) Evfifirn (I S
(C) 1966

mﬁ?ww_ Fa
e =

| ; e L
" 89, Malaria is caused b
(&) TM (B) @ﬁﬁ r A) Paramoecium
(C) farery (D} Hiie , (€) Entamoshu
2011 =t e 3 argEr 2fen w5 seeen Y o
T e 90.  The total number of Parligrmans:
: Haryana is
(A) 733 =g wig = Tt (A 10
(B) 666 =i wfF =1 ) (C) 12
(C) 855 =afw iy =7 ey SENPIO.R, S5, T

(D) 573 oafasafn 54 fe

- el L] o B immediate
'ﬁ%hﬂmq ! %qu s and has T az his
s 7 L. 5 is sitting

38 of the foll

42 36 :
3 @ 15° 3 @9 m@gﬂ the extreme e
P g {A) PT

19 B
(A2 (B) 4 {C) uo
(€)1 (D) 3 93, Pipes A and B car
mm#fﬁwhﬁﬁﬂﬁﬁaﬁﬁﬁ? tespectiy
I wife i 4 7 all the the
(A) m (B) m tank will be filled
(C) TeTEe (D) e g
i w1 ey G \
(A) STEFHARER.  (B) Sy S e
(C) s feefifraien (D) Jwen o arad TR
ﬁfﬁiﬁ?ﬁ?%‘fmﬁ%ﬁmw%?ﬁw 9. The Internation:

LRLGH R R 100 T # vy
mﬁm%ﬁammﬁm
ﬂﬂmﬂnﬁmmmmmﬁnxﬁ?

(A) S (B) T
(C) HTmiaTe (D) Foitem & F1é 77

“ARMY
[A) Rat

ina park and
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(E) Real time
§1. How many ut-ornen Hﬂukt‘i' Players from, Hiaryag
have represeited Indjy Takye Dlympics a0
Hockey tournarent 7 -
(A) 6 (B) 12
(©) 9 (D) Nane ot the above
8. Punjab Police Rules were frimied in
{A) 1944 (B3 1934
C) 1966 (D) 1954

i

bi

Malaria 1s caused by
(A} Paramoecium

(B) Plasmodium
(C) Enramaeba

(D Tﬁ}','.‘ﬂﬂ&'.'.‘e)ma

The total number of Patliamentary seats in
ans is

(A) 10 (B) 15

() 12 {3} None of the above

P, Q. R. 8, T, Uand V are sitting on a bench
in & park and all are facing East. R is on the
immediate right of 5, Q is at an extreme end
and has T as his neighbour, V is between T qn:1
U. 8 issitting third from the South end. Which
of the following pairs of pecple are sitting at
the extreme ends 7
(A) PT

(©) uQ

(B) PQ
(D) RO

Pipes A and B can fill 4 fank in ‘i .m:i 6 ml}

respectively, Pips C can empty i 10 J” hrr:E.l_c
i Erahes

all the three pipes are opened 10g¢ ther, the

tank will be filled in

- L2 s
(A) 3£ hrs (B) r]_;
11

[t
3 A= hus
(C) 4.% hrs (B) T

Miliwary- | u-:‘-]‘.ni't‘ﬂi Farum
i w
il

The International i
“ARMY 2021” was insuguré

Wi
(A) Ratnaputra, Sabaragantt
(B) Gurugram, Haryan?

(C) Kubinka, MoscoW
(D) None of the abave
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